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1. f the roots of the equation
x? +mx+m=0 are in the ratio pa,

then
JE ' JE o
qa Yep VI
is equal to
fa) O B 1
fe) 2 id} 3

If
¥3x7 - 7x-30 - y2x? —Tx-5=x-5

has oo and B as its roots, then the value

of of is
fal =13 B -5
fe} O fdl 5

3.0 2+9m and 2+ 2 -5 then what
x y x ¥

is = equal to?
L)

i m =
mp + ng mp — ng
iy PApowg g 2T
mp — ng mp + ng

4, I a’-by-e2=0, ax-b%+cz=0 and
ax + by - e = 0, then the value of

a:x+bfy+cfz
will be
fal a+b+e fhi 3
e 1 id) 0

§. I the equations x?-px+g=0 and
x4+ gx—p=0 have a common root,

then which one of the following is
correct?

fal p-gq=0 fB) p+g-2=0
fc/ p+rgq-1=0 (d} p-gq-1=0

B-ABPA-P-TRW f 5<4A

6. If x=21+273, then the value of
2x-Bx-5is equal to
fa} O b 1
fe) 2 fd} 3

7. The sum and difference of two
expressions are 5x°-x-4  and
x%+0x - 10 respectively. The HCF of
the two expressions will be

fa} [x+1) b} (x-1)
fe) (3x+7) fd) (2x-3)
8. If (s-a)+(s-b)+(s-¢)=5 then the
value of
(5—a)? +|s-b)? +(s-c)? +52

a?+ b+ e?

will be

faj 3 b 1

fc] O d -1

9. If the polynomial
x5+px5+qx4—x -x-3
is divisible by {x™ - 1), then the value of

z

pi+g® is
fa) 1 (b} @
e} 10 d 13

10. Let p and g be non-zero integers,
Consider the pobynomial
Alx)= x24 px+qg
It §s given that (x -m) and (x - km) are
simple factors of Alx), where m iz a
non-zero integer and k ia a positive
integer, k = 2. Which one of the following

is correct?
fa) (k+1)%p® =kg
) (k+1)%g=kp?

e} k?g=(k+1)p?
fd) k?p? =(k+1)2q



%

1. 7R T b* +mx+m=0 % A pig
p_fa, [m
ﬂaﬂjmﬂt,?h‘{;+ﬂlp+ﬂﬁmt

O B

faj O M 1

fc} 2 fd} 3
2, I

352 —7x_30 - J2x2 - Tx-Smx-5
F O a @ pE, @ op W o e Y

fa] =15 fb) -5
fe} 0 {d} 5
3.ﬂﬁ E'i‘ﬂ—rr'[ m E+E=uﬁ1 iﬂ' i

x X W I

T e 7

) 2 Y e i
mp +ng mp = ng

fel ! e () np - mg
mp - ng mp + ng

4, 42 qﬂ—by—m=ﬂ, ax-bisez=0 3
su:+by—:.'=r|]lﬁ111-'f

X =
4 Y +
g+x b+y c+E

= T w1 B
fal a+b+e bl 3
fel 1 fd) 0

5. a@ft wiferam .tg-px+q—ﬂ 3
x*gx-p=0 F TH IWAE q@ ¥, @
Frefefian § @ w=-w & o 87
faj p-q=0 b} prq-2=0
e p+gq-1=0 (d} p-qg-1=0

B-ABPA-P-JRW /54A

6. T x=23+2"3 ¥, @ 2x7-6x-5 F TH
fils aoa &7
fal © w1
el 2 ) 3

7. B WWE. F AE A W F Sx?-x -4
dn x?+ox-10 B T [ HEH W
He He (HCF) 71 @7
fal (x+1) fb) [x-1)
fe} |3x+7) fd} [2x—3)

B, ﬂﬁla—u}+[3—b]+l_s—:]-st.?ﬁ

s—a)* +(s- E'_'i_' +is— E?ﬁ

a?+b? sl
w1 HE R
fa) 3 (B 1
fc O dj -1
9. AR T

2

xO4 px? v get-x* - x-3

[x* -1) # faws B, @ plag? ® AW

1 21
faj 1 fb) 9
fc] 10 {d) 13

10. s effim p s g TEW Eiw
TR Alx) = 22+ px + g T FBrar fifim) =
femwn R T (x-m) M (x - km), Alx)F

wim s §, w8 moue e g R, k
T U T AN ke 2 ¥ Pl @
# wH-m T W R

fa) (k+1)*p* =kq
b (k+1)%q=kp?
e kig=(k+1)p*
[ k?p? =(k+1)%q

[P.T.O.



11. Let m be a non-zero integer and n be a

positive integer. Let B be the remainder
obtained on dividing the polynomial
x" +m"™ by (x-m) Then

fa] R iz a non-zero even integer

fb) Ris odd, if m is odd

R =35? for some integer s, if n is

16. If the sum of the roots of ax2+ by + =0

is equal to the sum of the squares of
their reciprocals, then which one of the
following relations is correct?

fa) ab?+ be? = 2a%c
bt ac?+ be?=20%q

fci ab®+ be? = a?e

EVETE
fd) a?+b?+e?=1
fd R=t? for some integer t, if 3

divides n 17. Consider the following statements in
12. H'_q_xil.l =198 and 33.::3!5!_9_-@ = 0, then respect of the Eﬁpr&ESTﬂ
the value of x + y can be equal to Sy = n[rt2+ b
fa] 7 b 5 where n is an integer :
(el 3 i) 1 1. There are exactly two wvalues of
n for which 5, = 861,
13. If the linear factors of ax? —[u2+l].u:+n 2. Sy =58 [p,1) and hence for any

integer m, we have two values of
n for which 5, = m.

Which of the above statements is/are

are p and g, then p+g is egual io
fa) [x=1j[a+1)

(Bl |x+1jfa+1) correct?
fe) |x-1)a-1) o, Loy
B 2 only
o L na=1 fe) Both 1 and 2
14. If fd] HNeither 1 nor 2

yoya+2bssja-3b 18. Consider the following statements in
Ja+2h - +Ja-2b respect of two different non-zero

integers p and g :

1. For (p+q) to be leas than (p-g)
g must be negative,

fof O 1 2. For|p +q)to be greater than [ p - g,
both p and g must be positive.

then bx? — ax + b is equal to |given that
b= 0}

e} ab fd) 2ab
Which of the above statements is/fare
15, If a® =117+b? and a=3+b, then the correct?
value of a+b is [ given that a > 0 and fal 1 only
b>0]) @ 2 only
o BB fb} 9 ] Both 1 and 2
fel 11 [l 13 {d} MNeither 1 nor 2

B-ABPA-P-JRW /544 4



11, WA #fifam m 1% Em s W a1
wiens i #1 owm dim R, W

x" +m" Fl (x-m)] & R T W Aw

THwE ¥ T
fa) R TE Y A9 g #
b) R Tamm R, wf m R

fc) Tt yob s & fom R=s? %, ¥R
n'-H'-ﬂﬁ

fd) Tt qois + % fog R=¢3 ¥, TR 3,
n F fafas =m 3

12. af% 4%2¥ = 128 3lg 33=3W._gW =0 §, A
x+yﬂﬂﬁﬁiﬂﬁmﬂm‘g?
fa) 7 fb) 5
(e} 3 fd) 1

13. 7% ax?®-(a®+l)x+a F Y TEs
paﬂlqﬁ,ﬂp+q'ﬁmﬁwt?
fal {x-1)fa+l)
fb) {x+1)ja+l)
fo) (x-1){a-1)
fdl [x+1){a-1]

14, T

o Na+ b +Ja-3b
~a+2bh =Ja=2b

¥, @ bx? - ax + b Tiewks wom R (R o
tfEb=0.)

fa) O b 1

fe) ab (d) 2ab

15. 9% a® =117+p% ¥ a=3+p & @A
a+bF AR F A (Fmmm i a= 03l

b>0.)
fal 7 fb) 9
fe) 11 jdr 13

B-ABPA-P-JRW / 54A

16. I ax?+bx+c=0 F FE ® WHE, T

syl % Wil F 8 & wOw &, @ S
it & A ww T A

jal ab®+be®=2a e
{b) a@e?+be?=2b%a
fel ab? + be? = a®c

) a?+b2+e?=1

17, www 5, = 2O ot oo ot R, B

2

it & Pt e = famm S

1. n % mumem § 7R %, FE oy
S, = 861%1

2. Sy=5_(n.y ¥ v W i
m & T T 9 o F A9 oAA R, R
o 5, = m ¥

T woE @ P A

fa) = 1

(b) Faw 2

() 13w 2EM

e} A1 sad2

18. @ fafim 1w el p aln g F W0 9
Frafeiian w1 W faan $ifae

1L (p+aq) % |p-q) § ¥0 #3 F oy
g T B E =)

2. (ptg) ¥ (p-q) A e R F
pﬂqﬁﬂﬂﬁﬁﬁﬁ'

Il w4 @ FR-w A w R

fa) FEE 1

(b} *=E 2

fe) 13w 2dE

fd) A1 AAH2

[P.T. O



a_b o 1 - 3 nhd g b
19. If S then which of the following 23, [:;2-33} " m:::) +28in30° is equal
sin
isfare correct? o
1 Pecdid? a4
C a1 am fal -1
a®+ b2+ o2 a T
2_ e
b2rei+d? d
fo) 1
Select the correct answer using the code
,E,I"l-"l!!:l'lu below. id} 2
fzl 1 only
flbj 2 only 24. A cyclist moves non-stop from A to B a
fci Both 1 and 2 distance of 14 km, at a certain average

_ speed. If his average speed reduces by

(df Neither 1 nor 2 1l km per hour, he takes 20 minutes

20. 710_ 510 o divial more to cover the same distance. The
e original average apeed of the cyclist is

fal 5

b 7 fa) 5 km/hour
fe) 10 fb) & km/hour
fd) 11

fef 7 km/hour
21. Let a two-digit number be k times the

sum of its digits. If the number formed jd) MNone of the above
by interchanging the digits is m times

the sum of the digits, then the value of
& 25. If a sum of money at a certain rate of

s simple interest per year doubles in

fa) 9-k 5 years and at a different rate of simple

fB) 10-k interest per year becomes three times in

el 11—k 12 vears, then the difference in the twno

) k-1 rates of simple intereet per year is
22. A man walking at 5 km/hour noticed fal 2%

that a 225 m long train coming in

the cpposite direction crossed him in fb) 3%

9 seconds. The speed of the train is

75 k

fa} m /hour © 3 %%

(B 80 km/hour

fel 83 km/hour

id) 80 km,/hour (d) 45%

B-ABPA-P-TRW [54A 6



1n.qﬁ§=f=d£t.mﬁ=:ﬁzﬁaﬁam-mm
C

we B/EY
: ic®+d® a
 a*sbtie? @
3 n2+b2+¢ﬂ=g
b*+ci+d? d
At fam T e = e = e i)
fa) F=9 1
fb) EE 2
fe 1 3w 29
fd] AT 1 HATAHE 2

20. 710510 el faarem 27

fa] 5
fb) 7
fc) 10
fdl 11

91, WA Ay g 3w f TR dEn W SE S
drrre ) kA B AR e A W e
1 92e@ # =9 TEm @ sk AmEe R
m AT &, 1 m % U wEn RE
fal 9-k
) 10-k
) 11-k
fd k-1

22. 7= e 4 5 fee o v i ww # W@ W
) 5 faitm e & s g 225 He w40
s temdl T o i § Un woEh ) e
£ = = B7
fa) 75 TRe He fEm
fy) 80 fEe e fum
fof 85 Fre o fua
{d) 90 e e oz
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. 2 z
23, (H'nw] _[maﬁﬁ"] +2sin3r  FFEF

cog 33
. B

sin 357

fal -1
b} ©
fe) 1
fd} 2

24, TH TS GEE A H BT 14 TRe e

zi o w o= ffim shen om 4 = A
k1 =R 3wh ol 9| 1 fRe Hie v oEm
9 w1 &, A 98 3 gl W m w3 F fa
20 fime wiieE &M ¥ =8 ol = 6
wrfveE sima = A

fa) 5 Tk e /T
(b) 6 TRe e 52
fc) 7 FRe e fum
fd) T A & E T

as. uft 8 o G =e f fel fiie

s @ & 5@ @ 9 Fh A owE e
AW = o e e i s R 12 o
g i @ ow R, Ao = H oA
BT i = s Ry

f@) 2%
) 3%

fe) 3l

fdj 41l

[P.T.O.



26. Let ABC and A'F'C’ be two triangles

in which AB> A'BE’, BC> B'C" and
CA>C'A’. Let D, E and F be the mid-
points of the sides BC, CA and AB
respectively, Let 0¥, E' and F' be the
midpoints of the sides B'C’, C°A" and
A'E’ respectively, Consider the following
statements ¢

Statement 1 :

AD> A, BE> FE" and CF > C'F'
are always true,

Statement I :
AB?+ BC? + cA®
AD* + BE?+ CF2
AR pC?ioa
ADRLBEZ R

Which one of the following is correct in
respect of the above statements?

fa] Both Statement I and Statement [0
are true and Statement [1 i3 the
cotrect explanation of Statement 1

fa) Both Statement 1 and Statement [1
are true but Statement Il is not the
correct explanation of Statement 1

fe) Statement I is true but Statement []
is false

(d] Statement | is false but Statement 11
is true

27. The annual incomes of two persons are

in the ratio 9 : ¥ and their expenses are
in the ratio 4 : 3. If each of them saves
¥ 2,000 per year, what is the difference
in theirr annual incomes?

faj ¥ 4,000
b ¥ 4500
fe) & 5,000
{d) * 5,500

B-ABPA-P-JRW/B44A

« Let S be a set of first fourteen natural

numbers. The possible number of pairs
[a, b), where @, be 5 and a= bk such
that ab leaves remainder 1 when
divided by 15, is

fa) 3
bl 5
fcf B

(d) None of the above

« A clock strikes once at 1 o'clock, twice at

2 o'clock and thrice at 3 o'clock, and
go ofi. If it takes B seconds to strike at
5 o'cleck, the time taken by it to strike
at 10 o'clock is

fal 14 seconds
B 16 seconds
fel 18 seconds

fd} Mone of the above

30. In a circle of radius 2 units, a diameter

Al intersects a chord of length 2 units
perpendicularly at P If AP = BP, then
AP is equal to

ja) [2+4J5) units
fb) [2++3) units
fel  (2++2) units

[dl 3 units



26, 9H #ify ABC 3l A'E'e @ vm §, T
AB= A'F, BC> B'C #n cAs>cA° £
o &fifim D, E 3l P s Bo, A
i AR % w-fig %) =R wfifem D7, £ 3R
Fr oo e BC, oA’ @ oA'E %
a-fig §1 Frafafian s w fam fifw
AT :

AD= A'D, BE = B°E’ i cF>CF
i wem R
A 07

AB? ¢+ BC? + cA?
AD24 BE2 4 CF2

_ABNEC AR
Arﬂri‘+ EPE‘:'FCPFF::

el wl & Tom Frefafas 3 8 S9-m o
HHl &7

fa) A 1 #R FA 1 9 owea R oaw
FF 11, Fa4 | F) af) =mem @

b FR 1R FE o0 IE oo § AR
w11, TG | 1 T s T f

(o) A 1w ¥ Al e 1 e R

() g | e & S weA 1A

a7, § =fwd o offE W o7 F agma 7R

MMFEEE 43T agm At o =E R
ToF =i P 2,000 it e waw R, @ e
At g 1w s Ry

fa) T 4,000
b ¥ 4,500
fcf ¥ 5,000
(d} ¥ 5500

B-ABPA-P-JRW [54A

28, TH e SvEs dre vw QUi B O B

Bl g (a, b) Fi BWEE FEm F R, W@
a, be S#N a» b 5a 7R FF ab W 159
fafm w0 W 9vEA 1 W BE

fap 3
by 5
fc} 6

(d) I % & w7

29, UF WE | 994 W TF 970 994 ¢, 2 T94 WA

a1, wE §, 3 999 W o A g B sl g
A aaht et B oAt 5 ow o oW 3
8 WEE oW R, M 10 T W T A B
g A ET

fa) 14 58
fb) 16 HFE
fe) 18 FFE
() T & & wrd

30. 2 THE fm a9 TF 99§ =W AR, @ T

=l dar = op w we vfesdia e R
TfE AP > BP, T AP fF e 27

fa) (2+5) %0
(b) (2+3) %
(e} (2++2) v
(d) 37%%

[P.T.O.



31. Under what condition on p and q, one of

the roots of the equation x2+ px+g=0
is the square of the other?

fa) 1+g+q* = 3pq
) 1+p+p?=3pg
fe} pP+q+q® =3pq

fd) q*+p+p* =3pg

32. What ia the maximum wvalue of m, if

the number Ne=90x42x 324 %55 js
divisible by 3™ 7

fa) &
by 7
e &
) 5

33. A bike consumes 20 mL of petrol per

kilometre, if it is driven at a speed in the
range of 25-50 km/hour and consumes
40 mL of petrol per kilometre al any
other speed. How much petrol is
consumed by the bike in travelling a
distance of 50 km, if the bike is driven
gt a speed of 40 km/hour for the
first 10 km, at a speed of 60 km/hour
for the next 30 km and at a speed of
20 km/fhour for the last 10 km?

fa) 1L
B 12 L
el 14 L

fdl 16 L

B-ABPA=-P-JRW/B4A
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34. Consider the following statements :

1. Ewery natural number is a real
number.

2. Ewery real number i85 a rabtional
number,

3. Ewvery integer is a real number.

4. Ewery rational number i= a real
number,

Which of the above statements are
correct?

fa) 1,2 and 3
fb) 1,3 and 4
fc 2 and 3 only
fd) 3 and 4 only

. For what value of k is [x+ 1) a factor of

i ke?ox 42
fa) 4

b} 2

fe) 1

fd) -2

« Consider the following statements

1. There exists a positive real number
m such that cosx =2™*1,

2, mmrzm+n for all m, n belonging to
set of natural numbers.

Which of the above statements is/are
correcty?

fa} 1 only

fb} 2 only

fe] Both 1 and 2
fd) Meither 1 nor 2



31. WiFEm x24 px o+ g=0% T A F T YA 34, Fr=fafen e w fam i

= 71 #9 F fan p sl g fem ol & il 1. wew A g U A g g R
L2l 2. i e dEn w v wen E
fa) 1+q+q% =3pq bl

3, W i U gl dem v

(2] 1+p+p2=3pq - :
4, weEre oftim @E TS SEEs e g

fe) p*+q+q* =3pq (]
(d) q°+p+p®=3pq FeA AT A T
fa) 1,233
32, 4% HEW N-00x42x324x55 3™ # ) 1,334
Tavr=g &, @ mw iy @ T A7 & wewzadis
8 (d) ¥ 3 dn g
) 7
e ® 35. k% Fem omA ok T (x4 1), 2P akat-x+2
o 1 UE P B
fa) 4
33, UF HEEREE # 25-50 fRe e vm (b} 3
it A fet = R wem = w20 fe e e 1
2w freinie S @ w § s e @ -2

= W B S W 40 e fae |
ofa feerdi € |a ¥ 3kt dewmiea

TS 10 FFe de & 40 fee We/dm F == 36. Frefifas wad w famm i .

#, W 30 Fe e § 60 B e fdm H 1. TF YIHE SAia HE m e
=@ A 3 3m 10 fRo e # 30 fFe Hie/ W IEA E fcosx =271 R
vz o wrer @ wen e ¥, @ e 2. mnzms+n, 76 WA m, 0 T F
B 50 fFe e i gt m w0 # TR He a=m & e §)
Hi ?
it Trf e # B A R
iy L fa) FEE 1
b 12 e b) a2
fe)  1-4 fe fe) 1 3236
fd} 1-6 faae fd a@1amada
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37. The solution of the inequation 41. Consider the following in respect of

1 1 natural numbers a, b and ¢ ;
l+——— =0
x x2 1. LCM(ab, ac) =a LCM(b, ¢)

is [ given that x # 0} 2, HCF(ab, ac)=aHCF(b, c)

faj x>0 3. HCF(a b)<LCM|a, b)

B x<0 4. HCF(a b) divides LCM(a, b).

P _1:_;"3 I ;E Which of the above are correct?
fal 1 and 2 only

(e IE_I;EerE'];JE G

1, 2 and 4
38. Which of the peints P[5, - 1), Q(3, -2 fe) an only

and R(1, 1} le in the sclution of the fdi 1,2, 3 and 4

system of inequations x+y<4 and

X-—-yziv 42, There are three brothers. The sums of
fa) Q@ and R only ages of two of them at a time are

4 years, 6 years and B vears. The age

fb) P and R only difference betweesn the eldest and the

fg} F and Q only youngest is
fd] F, Qand R fa) 3 years
39. A passenger train takes 1 hour less for (Bl 4 years

a journey of 120 km, if its speed is

increased by 10 km/hour from its usual fe} 5 years

speed. What is its usual speed? {d) 6 years

fr} 30 km/hour

) 40 km/hour 43. A person goes to a market between
4 p.m. and 5 p.m. When ke comes back,

fe) 35 km/hour he finds that the hour hand and

fdl 30 km/hour the minute hand of the clock have
interchanged their positions, For how

40. The value of k, for which the system much time {approximately) was he out

of eguations 3x-ky-20=0 and of his house?

Bx - 10y + 40 = 0 has no solution, is
fa) 35:38 minutes

fa] 10

B 6 B 5598 minutes

fel 5 gl 53537 minutes

fdi 3 {cd) 5567 minutes

B-ABPA-P-JRW /544 12



aT. sl 1+l-—lzaﬂ'=ﬁ|ﬁiﬂnti' (&

X x
TR x20)
fal x>0
b} x=0
T 3 5
el 1 ﬂEEIS 1+\_-._5_
(d) ,:s'l'*"gm.:;"”rg
2

as. fgsl P(5, -1), @[3, -2) e R(L, 1) #

A P34 fig sl P x+ys4 o
x-y= 2% emd g 87

fa) @ Q3R
b AR P HRE R
fe) %am paln @
(d) P, Q3R

39, TF g el 120 FRe e T ¥ w1 5@

w9 W WA ¥, T T T e e a
10 fe wite faz wyd wwfl B el @

T 47 /7

faj} 50 e e fu
bl 40 e e fmn
jc) 35 fFe e Tz
fdl 30 e o faz

40, k w1 #a¢ uH, fams Tw wiEww Feew

Ix-ky-20=0 3 6x-10y+40=0 W
1§ 7= = B, W B

fa) 10

b} G

fe) S

fdl 3
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41. WA [ a, b 30 o ¥ fom Pl w f=m
#ifem,

LCM [ab, ac)=alCM(b, ¢}
HCF[ab, ac] =aHCF([b, ¢)
HCF{a b)<LCM{a, b

HCF{a b}, LCM[a, b) % fawnfas
= B

I § & TR0 i
fa) FEE 1 #R 2
f) @ 3 a4
fe) A 1, 2 #4
iy 1,2, 3304

& L ko=

42. 7 s ¥ Fr wm owod @ 9 R s w

et 4 2, 6 @ ofn 8 ad B ww w2 i
el B ) WY w A AT

fa) 34
(b) 4
e} 5
(d) 6

43. TF TH HE 4 9 U WA 5 w6 % AN "an

wren | W= 9 AR S R, 7= am ok fe
a1 # 52 1 gt sin e ) @ e
3| § wew T #) 98 e gm (e F
fom = o =t =y

fa) 5538 firm
b) 55-48 fiFE
e} 5557 e
(d) 5567 fiFz

[ B T. 0.



44, In a gathering of 100 people, 70 of them

can speak Hindi, 60 can speak English
and 30 can speak French. Further, 30
of them can speak both Hindi and
English, 20 can speak hoth Hindi and
French. If x is the number of people
who can speak both English and
French, then which one of the following
is correct? [Assume that everyone can
speak aft least one of the three

languages.)

fal 9<x<30

bl O0<x<B

fo} x=9

d}] x=8

45. A cloth merchant buys cloth from a

weaver and cheats him by using a scale
which i 10 cm longer than a normal
melre scale. He claims to sell cloth at
the cost price to his customers, but
while selling uses a secale which is
10 em shorter than a normal metre
scale, What is his gain?

fa) 20%
b} 21%

2
fe} EEE%

1
— %
fd) 23 3

B-ABPA-P-JRW /54A

i4

46. Two pipes A and B can fill a tank

im 60 minutes and 75 minutes
respectively. There iz also an outlet C
Il A, B and C are opened logether, the
tank ia full in 50 minutes. How much
time will be taken by Cto empty the full
tank?

fal 100 minutes
i 110 minutes
fc} 120 minutes

{dl 125 minutcs

47. In a race of 1000 m, A beats Bhy 100 m

or 10 seconds. If they start a race of
1000 m simultancously from the same
point and if B gets injured after running
30 m less than half the race length and
due to which his speed gets halved, then
by how much time will A4 beal 57

fal &5 seconds
fbl B0 seconds
fe} 50 seconds

fd] 45 seconds

48. The salary of a person is increased by

10% of his original salary. But he
received the same amount even after
increment, What is the percentage of his
salary he did not receive?

fa) 11%
fb) 10%
fe (100 /11)%
fe) (90 /11)%



44, 100 =TFE =1 0% W B T @ TO S

fis e wd B, 60 =afs S S w0 B
aw 30 = F= 9 w9 §1 Tk we A,
T B 30 =afE fi=l o saiel N e wE

46. @t 7@ A aln B f& 3 =1 = 60 fiFe

o 75 fime % w1 w5 #1 uw feem o ofi 1
T A, B 3 ¢ weas @ By e, @ &6
s0 foge & wlt 31 9t TR B Tm wE

F w20 =afs B=h ain e SN = T R w14 1 feaa wwm wm?
ot 39 =i @ Hen ¢ S se el b
3 dre T, @ Pk @ A AR fa) 100 firz
] § B FR-H-F0 T 9 ae a1
fe) 120 firz
fa) 9« x<30 el 125 fire
o VEx2b 47, 1000 "o 7l ww S2 ® A, BF 100 He W
10 B B TOm B TR ¥ UE H e R
g x=0 1000 e F 95 A WA W= ¢ AN AR
” 4 B e ) FEn F w3 50 e wy w6 ded
X =

¥ e Ta B own B, frmE s e
T o ¥ W B, @A, B T anam @

B
45. TF FHE W SIH FTE § Fe wlEm § e (a) 65 #FE
T i o A 10 He Hio wEl ATH W bl 60 THT
W A T Ao ¥ ) 4R A W _
F T UER W OwGE A=4 W s b fc) 50 #HE
difeE e ww Tom el W = R ) 45 W

amE fie o A 10 de e B B TER

Gl ik
48, TF =i F A0 § 95 99 6 10% The F A
fa) 20% | s 399 9fE F = of =@ dae A T
A ufl ww 71 = s A o e wiea
b 21% T W e gl
. fa) 11%
g (b) 10%
, fc) [100/11)%
i e fdl (90/11)%
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49. A truck moves along a circular path and

describes 100 m when it has traced out
36" at the centre. The radius of the
circle is equal to

@ 2m

(&}
e

(e}

50. Two poles are placed at P and Q on either

side of a road such that the line joining
P and Qs perpendicular to the length of
the road. A person moves x metre away
from F parallel to the road and places
another pole at R Then the person
moves further x metre in the same
direction and turns and moves a
distance y metre away from the road
perpendicularly, where he finds himseif,
@ and R on the same line, The distance
between P and Q (i.e., the width of the
road) in metre is

fal x

(b}

B3| =

fcf y

fd) 2y

B-ABPA-P-JRW/54A
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51. Suppose chords AR and CD of a circle

Fll'

intersect at a point P inside the circle.
Two right-angled triangles A'P'B° and
C'Q'D' are formed as shown in the
figures below such that AP = AP,
BP=BPF, CQ'=CP, D'Q'=DP and
LA'PE = 9F= 200D

N\ D

Which of the following statements are
not correct?

1. A'FE' and C'Q'D" are similar
triangles, but need not be
congruent.

2. APHE and CQ'D’' are congruent
triangles.

3. A'PE and C'Q'D’ are triangles of
SAIMEC ATCA.

4. A'PE and C'Q'D" are triangles of

same perimeter.

Select the correct answer using the code
given below,

faj 2 and 3 only
fb) 1 and 3 only
]

1, 2 and 4 only

fd} 1,2, 3 and 4



40, T I¥ 09 "W W W4 ¥ FE W 36°

apjtfi w3 w100 Ao ) gh w won B
ga %I e e = i

faj o e

T

250 o,
n

(s

e 220 e

"

@ S0 e

50. & W U WEw & oM FEn m Pl oW

W wEn A & e o e
areh Y wew 6 deEE W E R R T
=tk #5F F wwwl P ¥ x dm g T B
o v ¥= WY R W A 8| 36 91E 98
=i 1 fm § x die Tg g5 W ko
5F & e y = R gl m o R W
a7 T & 7R 9E w=e, @ o R s A T m
¥ paln 0 F 9w R g0 (vl wgE A
<) ofver @ wm B7

ja] x

ib)

B3|

el u

idl 2y
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51. WA wifm uF g9 1 @ AR @R CD T F

g fag P ow virede wl B @ wwwm
Bm A'PR i oD dR T Rt
WM W OWER T # B AP - AP,
B'P'=RBP, C'Q'=CP, D'Q'=Dp 3
LAPE =90P= £CQDE:

l ”
B Q'IX o

Frerfefim sai 8 & SF-3 af ot &7
1. A'P'E #R QD Twes B § o
aravaE =) W wabmEm g

2, A'PE ¥n oD watnan e §)
3. APE ¥R OCOD TR OEEEE OH

firga 21
4. ;'P’E'Gﬂ”{t‘ﬂfﬂ'mﬂﬂf{mﬁiﬁﬂi
I
i o g = wam = A I g
fa) FEE 2 20 3
b Faw 1 #R 3
o) FEE 1, 2 30 4

fdy 1,2, 334

[P.T. 0.



52. SBuppose ABCis a triangle with AB of unit
length. ' and & are the peints lving on
AR and AC respectively such that BC
and DE are parallel, If the area of
triangle ABC is twice the area of triangle
ADE, then the length of AD is

fa} % unit

(b

1 ;
= it
3

fc) sk unit

42

fel} ﬁ umnit

§3. A rhombus is formed by joining
midpoints of the sides of a rectangle in
the suitable order. If the area of the
rhombus is 2 sgquare units, then the
arca of the rectangle is
fal 242 square units
i) 4 square units

fe) 42 square units

fdl B square units

54. If each interior angle of a regular polygon
is 1407, then the number of vertices of

the polvgon is equal to
fa} 10

b} 9

jo) &

fd} 7T

B-ABPA-P-JRW /54A
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55. Let the triangles ABC and DEF be such
that £ABC = #DEF, FACB= #DFE and
£LBAC= £LEDF, Let L be the midpoint of
BC and M be the midpoint of EF.
Consider the following statements ;

Statement | :
Triangles ABL and DEM are similar.

Statement 11 :

Triangle ALC is congruent to triangle
DMF even if AC# DF.

Which one of the following is correct in
respect of the above statements?

f) Both Statement | and Statement I
are true and Statement Il is the
correct explanation of Statement |

Both Statement | and Statement 11
are true but Statement [ 15 not the
correct explanation of Statement |

(&}

fc) Statement | is true but Statement 11
is false

fcj Statement | is false but Statement IT

ig true

56. The number of rounds that a whes)

of diameter 7f11 metre will make in
traversing 4 km will be

fa) 500
(B 1000

fc) 1700

fdj 2000



52. WA @it 5 ABC % o &, famd A R
A UE T 2 D #h EoweE AR sl AC
w38 e fim fagd B 7 Be ol DE wwim
%1 o finm ABC % &7Em, fiME ADE F
e 8 R, @ AD i o e

fa) +
by L i
) - v

fdl — gt

53. TF 9P F YT F Ae-Fgs ®) 0 IR
Fa 1 dg vE wHEgda S A g TR

woEgds w1 aEEa 2 3 g b W@ o w
fwm = &7

fa) 242 =T g
(b 4 = T
fe) 442 o T
fd) & = 5
54. U7 TH U ALY 1 WellF HAF 140° 7, T
A & T S Fn e auar §F
fm) 10
B 9
fe) &

@ 7
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55. #H witey f e ABC i fiw DEF

w&H E 7 YABC= #DEF, #ACB= 2DFE
#HN /£ BAC = £EDF | WH Tt L, BC =
aafig 2 v M, EF m wafig B
ﬁﬂﬁ?ﬁﬂﬂmuﬁﬂaﬁiﬂm:

T 1 ;

s ABL #in Bge DEM TuEs £

WA I

fia ALC, finn DMF & walbmm &, 7 0,
7@ AC# DF ¥

e Tl % for Frfirfian @ -
adl #7

fa) ®uA 1 s wR 1 I W@ B R
e 11, 99 1 i e s g

(b) W 1 N WA 1 EH WA Bl
w4 11, %99 1 i wF = T

(o) U 1 @A 8w FA 11 e R

fd) TR | ¥ § oA e T g

56. 7,11 dtet wE & ww qfew g 4 e e f

T T WA A T T T R e
grfi?

fa) 500
b 1000
fe] 1700

fd) 2000

[P, T.O.



57. The base of an iscsceles trangle is 61. A squarc is inscribed in a right-angled

300 units and each of its equal zides is triangle with legs p and g and has a
170 units. Then the area of the thangle common right angle with the triangle.
is The diagonal of the sguare is given by
fa) 9600 square units fra) Pq
{b) 10000 square units pt+iq
fe} 12000 sqguare units
) 2
fd) MNone of the above 2p+q
58. Four equal discs are placed such that Vpa
each one touches two others. If the area fci e
of empty space enclosed by them is Pa
130/847 square centimetre, then the 3
radius of each disc is equal to fp =21
Ptg
fal T/6 em
56 em
s 62. f X -Ztand=1and Ztanb+ ¥ - 1 then
fe} 1/2 cm a b a b
¥ 2
fdl 5/11 cm the value ul’—2+—i-13
a ¥
5%. ABC and DEF are similar triangles, If the 2 5
ratio of side AB to side DE is fa) 2sec”d fb) sec®8
{v2+1): 43, then the ratio of area of & §
triangle ABC to that of triangle DEF is fe] cos”® flf 2cos” 8
faj (3-242):3
= 63. Consider the following :
b (9-642):2
1-cos
e ; - & —cotd
feb 1:{9-642) 1 Y cosecH - cot
fdl [3+242):2
1+cosh
2, II—_ = té
60. A tangent is drawn from an external 1-cosh R
point O to a circle of radius 3 units at -
P such that OP =4 units. If C is the Which of the above isfare identity/
centre of the circle, then the sine of the identities?
angle COF is
1 1
fa) 4/5 Vo by
fei 3/5 fc}] Both 1 and 2
fed) 172 {d) Neither 1 nor 2
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57. il wofiamy fgw w0 amam 300 R

wH T qmed § @ whw B wad
170 i # | Bv= = dees = 7

61. p ¥ g YM# 79 F wHEm Gyw 4 e

et din wm ¥ B = wwwm, i
anEm ot 31 =1 w fewd el w27

fa) 9600 71 =H

M
fb) 10000 =7 7 e/ p+2g
fe) 12000 = TFHE i
(d) T 3 2w ™ Soia
58. W WUA WSl Fw wen v W b fe) V2pg
Ul S B 3 AR O A p+q
T FE T wiEs iwm wmR oW dEea g
1507847 @ #o o ¥, @ s Bewm fci) s
i forms = Y
fa) 7/6 He Heo
ib) EII"E-'&':' Hlo 62 ‘Iﬁi—ftanﬂ=13h§tanﬂ+=u=1!,?ﬁ
fe) 1/2 e e £+£Eﬁrﬂn=r?m??
{dl 5/11 #e e a b
§9. ABC 3t DEF " Bamm §1 9R ym AB fa) 2sec”@ (B} sec? s
i @ DE ¥ WA (VZ2+1):43 B, W@ 24 24
fiq= ABC % f5%a ¥ @ DEF % &wwa L o
H W 3T Y
‘lﬂ} [3—2\!@]-:3 6'3- ﬁm“ﬁm%:
bl (9-642):2 [T-cosB _ s
{6 1:(9-6v2) " Vivcose TSmO
) (3+242):2 a3 1+EDEE=:M:¢E+:MB
ot ) e 5 o T % fig . A
60. 3 wE A P W T% A8
fg 0 @ = Tt wa wen s e d T & B W el adufend 88
or=amiRaR @RI CR, A
T OOP T sine 7 87 f) F 1
fal 4/5 (b) = 2
o 34 el 1 w2 9E
fel 3/5
fdl 142 fd} a1 dACAH2
B-ABPA-P-JRW /54A 21 [F.T. 0O,



64. [ pfmtE:tanB a;ad g = secl — cos, &7, In a.triang]e.&BCif.-‘.—E=E. then C+25
then (p®q)? —(g®p)3 is equal to 4

is equal to
fal 0O
2n
fhl 1 fa} =
fe} 2
65. Two observers are stationed due north of
a tower (of height x metre] at a distance o n
y metre from each other. The angles of
elevation of the tower ocbserved by them
are 30° and 45° respectively. Then x [y fel] %
is equal to
ra.] E
2 68. Which of the following is correct
-1 in respect of the equation
fh) T_ 3-tan? @ =a(l-3tan? 8)? (Given that
o iz a real number.)
NERS |
fcl 1
2 @l a1, 3]
fdl 1
66, If ) [::E[—ul %Jul;;‘ =)
cos® B - JcosB+2 |
sin? B 1
. €@ agl-= 1uis =
where O0<f< ' then which of the 3

following statements isfare correct? i) None of the above

1. There are two values of # satisfying : 1

the above equation, &9, There are five lines in a plane, no two

2. B=60F iz satisfied by the above of which are parallel. The maximum
equation. number of points in which they can

Select the correct answer using the code mieraect is

given below, fa} 4
1 onl

fa) y T

(B} 2 anly

fe} Both 1 and 2 e 10

fd] Meither 1 nor 2 {d} MNone of the above
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64, 9% p=coth+tand ¥F g=sech -cosd §,
A (p2a)’ - (g2 p)} Fs wow B
fa)
(b
fc)
id}

N S

65. 3 J9%F v UAR (x g S0 F I oam @
TE-gE # y HE f gl W mfem =
g Afim dew % 359 wm e 30* 3N
45° ¥ &l x / y Trwk w27
¥2-1
2

¥3=1

fa}

{b)

fel

fd} 1

cos” B - 3eosh +2 i

gin? @
ﬁﬁ{:{ﬂqg‘a,a‘lﬁqﬁfﬁaﬂmﬁﬂﬁ

- A T BT

1. T wlE ¥ HEE A A, 6 T
HA

2. @ =60 I wdiem @ wE )
AR fim m 5= = o = oA e g
fa) @ 1

(b} Faw 2

fe) 1 #m 2 EH

(d) ad@ 13mad2
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67. Uk fnm ABcC 4 aR A—B=%?~.ﬂ €+2B

Torms e B

e

fib}

+|g w|¥

fc]

=

fed}

B3| A

68, F=ffias A & Fw-m,  wdEw

3-tan?f=np(l-3tana) * @it § ¥A
2F (B mn & 5 o v Tvafas g R0)

fiz) ::l‘:[é, 3]
fb) [:E[—u. %}uﬁ. )
fel uE{—m. %}ul:}. 2

() T =

69, TF muae § uig tond €, fed @ A o 9

aui A6 #1 3 fagel 1, fm W @ ofiese
w1 wwe| §, wfiwen dem . A7

fal 4
b &
fe) 1D

() T A A w0

|P.T. O,



T0. Consider a circle with centre at & and

radius 7 cm. Let QR be a chord of length

2cm and let P be the midpoint of QR

Let CD be another chord of this circle

passing through P such that ACPD

iz acute. If M is the midpoint of CD
and MP =424 cm, then which of the
following statements are correct?

1. Z2QPD=13%

2, HOCP=memand PO = neom, then m
and n are the roots of the quadratic
equation x2-10x+1=0,

3. The ratio of the area of triangle OPR
to the area of triangle OMP is 1: 242,

Select the correct answer using the code

given below,

fa} 1 and 2 only
b} 2 and 3 only
fel 1 and 3 only
gl 1,2 and 3

Ti. Let ABC be a triangle in which AB= AC.

Let L be the locus of points X inside or

on the triangle such that BX=CX.

Which of the following statements are

correct?

1. L is a straight line passing through
A and in-centre of triangle ABC is
on L.

2, Lis a straight line passing through
A and orthocentre of triangle ARC
is a point on L.

& L is & straight line passing through
A and centroid of triangle ABC is a
point on L.

Select the correct answer using the code
given below.

fal 1 and 2 only
fb) 2 and 3 only
fel 1 and 3 only
fd) 1,2 and 3

B-ABPA-P-JRW /54A
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T2, Consider a circle with centre at C, Let OF,

O denote respectively the tangents
to the cicle drawn from a point O
outside the circle, Let R bea point on OF
and 5§ be a point on O such that
OR%S0=0SxRP. Which of the
following statements is/are correct?

1. If X iz the circle with centre at O
and radius ORF, and Y is the circle
with centre at O and radius OF
then X =¥,

2. ZPOC+ Z0QC0 = 90°

Select the correct answer using the code
given below.

fal 1 only
fbl 2 only
fe Both 1 and 2

fe] Neither 1 nor 2

T3. If m and n are distinct natural numbers,

then which of the following is/are
integer/integers?

moon
I, —+—
n m
mooon -y
.8 mn[—-i—.lhmzanz]l
n m)i
i
3. T
m* +n

Select the correct answer using the code
given below,

faj 1 and 2
(b} 2 only
fc) 2 and 3
fdl 3 only



70. ¥z O # 7 Ae e fm F ww 9w fA=w

wifi| o wifan QR, 2 Fe e WA ww

A & ol m elifie P, or = wa-Tag R

AR Wi ocD o R, P R T

T, T W W @ R B R sopp

¥ R M, co = we-fag B oalw

MP = 24 %o #fte ¥, 7t Fefaiaa o 4

T F-3 w8

1. ZQPD=135

2. W2 CP = m #e Mo 5N PD = n#e He
B, @ m % n fEm wiwm
x?-10x+1=0F A B

3. e opr % dmem = Bgm omP &
SaEd # w10 242 ¥

4 fam 2 | Wi w9
fa) == 1 s 2
fb) T 2 SR 3
fe) w1 a3
fdl 1,2 313

71. WA #fi ABC ww figm B, fawd aB- ac

# 1w wifim fagad X w, W % o % sl
= fiya w39 v ¥ T By - ox B, fagoe
L ¥ Frafaftrn sl & @ -8 wh #7

1. L, A# Tw aelt wE e ¥ osi
finE ABC =1 ¥R LW B

2. L, A¥ A AT OF A e i
fim ABcw weks Lwus By

3. L, A® T awE T W o oan
fm ABC ® ¥ LW fig B

A= fom 3 F wEm = w3 g

fa) FE@m 1 MR 2

fby) HEE 2 s 3

fo) TR 1 #HE 3

fd) 1,233
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T2. ¥F C 9 UF g0 T fram fifsm) o@ i

OF, 0Q W 97 % AW fig 0@ T W
et i wei-tmmd #) 9w wifdw R, OP W
v fig ol 5, oom e g muEn b 6
OR % 50 = OSx= RP B Fr=fafts wudl § &
- T R

1. 3R X, ¥z o G=n or= 99 & AW
v, odPmoswmawk @
X=YH

2. LPOC+ LQC0O = 9P

19 fam = = W = ) T gl
fa) R 1

(b) R 2

fe) 1 2 2

fd) 7@ 13Mmada

73. 3% m N n B v s B, @ Pl 8

B F-m A gt R

1. +

{

m? 4 n?

= fam gz W w3 gh
fal 1#RE2
b} FAH 2

A3

-

2|3 3|=

-

| 2
—]im= 1-:'1:] !
m

:

3.

i 243
(d) +=E 3
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T4. Ouiside a meeting room, Madhukar was

told by a person that esach meeting
takes place after 13/4 hours. The last

meeting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m, At what time did Madhukar

receive this information?

fa) 10:20 a.m.

B 11:30 a.m.

fe} 11:40 a.m.

fd] 11:50 a.m.

T5. The expenditure of a houschold for a

certain month is T 20,000, out of which
¥ 8,000 is spent on education, ¥ 5,900
on food, ® 2,800 on shopping and the
rest on personal care, What percentage
of expenditure is spent on personal
care?

fa) 12%

fb] 16-5%

fc) 18%

) 21-8%

B-ABPA-P-JRW/54A

26

T6. If

Gl 1

_..._=3+

19 S 1]
Wt

where x, y and = are natural numbers,
then what is z equal to?

fa) 1 b 2
fe} 3 fd) 4

T7. A circular path is made from two

concentric circular rings in such a way
that the smaller ring when allowed to
roll over the circumference of the bigger
ring, it takes three full revolutions.
If the area of the pathway is egual to
n times the area of the samaller ring, then
n is egual to
fa) 4

fe] 8

b} &
d 10

78. Consider the following statements :

1. f nz3 and m=z3 are distinct
positive integers, then the sum of
the exterior angles of a regular
poelygon of m sides is different from
the sum of the exterior angles of a
regular polygon of n sides,

2. Let m, n be integers such that
m>nz3 Then the sum of the
interior angles of a regular polygon
of m sides is greater than the
sum of the interior angles of a
regular polygon of n sides, and their

3 b1
gum ia 1m+n]a.

Which of the above statements isfare
cormect?

faj 1 only
b} 2 only
fe}] Both 1 and 2

fd} Meither 1 nor 2



T4. W T F AR WE S 3 A F 9ae
T 99F 1374 92 % aw wd b foosi
2= 4iF 45 fre v A wom g ¥ ol
wreh d2w s 2 99 E W W oW
T R T W R

fa) 10:20 gEE

) 11:30 gate

fol  11:40 TEiE

fd] 11:50 [i&

75. T T = FE fad o = =m e 20,000 &,
firedt / fivm w # 8,000, WH W # 5,900,
sl F 2 go0 i I =fEm fEym W
= g EowR = oW feen afem s
=fim TEaTE TR Y

fa) 12%
M 165%
o) 18%
fd] 218%

B-ABPA=-P-JREW /544 aT

T x, y R z 47 qbw &, A 2 Feed
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fa) 1 fb) 2

fe) 3 {d} 4

T7. W g 99 2 gL e T # W v w

t T W a2 aem W 9% aew 6 i m
A A R, @ AR @ AR e so @)
uft wol w1 dEwE, 97 Tem ¥ d9EA W
n T R, @ n TR e #F
fal 4 b &
fc] B id] 10

78. Trafafs wu o fan Fifam

1. 3 nz3 3 me3 fm v s
B A omymsd o TE oW oAE F
Afesil ® AR, 0 A TH =
A AEYE F Afewrl & dren @ fim
2l

2. WA #Hi m, o = @ ww E R
me>nz3 @ m g @ wE @y
EYA AT TGRS, n
T TF AW ARE E s & e

1 aﬁﬁtﬁnmﬁrﬁ[mm]%
2l

I w4 = a R
fa) W 1

b %= 2

fe) 13 2ae

(d a1 sada

[P.T. .



T9. Consider the following statements !

1. There exists a regular polygon
whose exterior angle is 70",

2. Let nz 5 Then the exterior angle
of any regular polygon of n sides
is acute.

Which of the above statements is/are
correct?

fal 1 only

B 2 anly

fe) Both 1 and 2
fd] MWeither 1 nor 2

80. In a triangle POR, point X iz on PO

ard point ¥ is om PR such
that XP=1-5 units, XD =05units,
PY =2 units and YR =8 units, Which
of the following are correct?

1. QR=5XY
2. QR is paralle] to XV,

3. Trangle PYX is similar to triangle
FRQ.

Select the correct answer using the code
given below.

fal 1 and 2 only
fb} 2 and 3 only
fel 1 and 3 only
fdl 1,2 and 3

Bl. If a transversal intersects four paraliel

stragght lines, then the number of
distinct values of the angles formesd will
be

fa} 2
b} 4
fc) 8
fd) 16

B-ABPA-P-IRW /544
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B2. A person travels 7 km eastwards and

then turns right and travels 3 km and
further turns right and travels 13 km.
What is the shortest distance of the
present position of the person from his
starting point?

fa) & km
(b} 345 km
fcg T km
fd} 445 km

83. ABC is a triangle in which D is the

B4,

midpoint of BC and E is the midpoint

afl AD. Which of the following statements

is/are correct?

1. The area of triangle ABC is equal to
four imes the area of triangle BED.

2. The area of triangle ADC is twice
the area of triangle BED.

Select the correct answer using the code
given below,

fal 1 only

fb) 2 only

fef Both 1 and 2
jd} Neither 1 nor 2

A circle of 3 m radius iz divided into
three areas by semicircles of radii 1 m
and 2 m as shown in the figure above.
The ratio of the three areas A, Band C

will be
fal 2:3:2 B 1:1:1
fe) 4:3:4 fdl 1:2:1



79, Freiafas s o fan fifw .

1. T HH apa W, frw aferm voe R,
wiwwea &

2. TR AR Az 5% R g e
Al T AR W AR =

T WA A B - R
fa) =1

fb) A 2

fe) 1 # 2 TE

fd) 2@ 1 sad e

so. =l @ POR § fig x, PO W o fig

¥, PR W R 8 ff xP-1.5 v,
XQ =06 5%, PY =2 751 a4 YR = 8 751
#| frefafen 4 4 o9-a 58 57

1. QR=35X¥

2. OR XY ¥ wmim ¥

3. fm pyx, fiw PRO S wem
= fou T 5= = Wi w wf I ghm)
fap FEa 1 w2

b} = 2 Hw 3

fo) FEE 1 R 3

fd) 1,233

81. I v fels T oan 9w wE et W

ufrsde F=dt B, W TR W w0 oE fm
T = HE ety

faj 2

B 4

fe) B

{dl 16
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82. TF =fr W B Ww 7 Fe de wwm 3, fm
ol gEa & o 3 fre e Swar ¥, ol fm
o gz B ug 13 FRe e wmm 21w =hE
% wnfe fag & e el R 4 g
o e B2
fa) 6 fife e
fb) 345 fFe Hie
e} 7 fo e

fd) 45 e e

83, ABCUF faqa ?, fimdl D, B W w-fag ¥

s E, AD %1 ma-fag #) foafafan s 4
H FH-11/H w0 B/ET

1. f@ aBc w1 dwem, fie BED *
SR H = R

2. By@ ADc %1 &%%m, fn@ BED #
ArHe S T B

#r o g owim = I g

fa) FaH 1

(b} w2

fo) 1 31 2 29

fdj A1 st

= % Fn aifen R 4 =oim o &, 3 e
frnd w1 e sl 2 e B &
gl | AR &9 8 R fen o ) @4
& A, B3 CT FgEm =0 wme

faf 2:3:2 by 1:1:1

fo] 4:3:4 fd} 1:2:1

[P.T. 0.



85. "JE=1_£'JE and x-y=8, then the a7
y x

value of xy is equal to

fa] 36
fb) 24
A i ¥
fc) 16
In the figure given above, AD = CD = BC
fd) 9 What iz the value of ZCDE?
B6. A fa) 32°
b} 647
(e} 78
¥ {d} Cannot be determined due to
insufficient data
-
H Q c 88. ABC is an equilateral triangle and X, ¥
and Z are the points on BC, CA and AB
ABC is a triangle right angled at C as respectively such that BX =CY = AZ.
ghown in the figure above, Which one Which of the following is/are correct?
of the following is correct? 1. XYZ is an equilateral triangle.
2. ‘Triangle XYZ is similar to triangle
fa) AQ?+AB* = BP? 4 pQ? AR
Select the correct answer using the code
given below,
) AQ*+ PQ* = AB*+ BP?
fa) 1 only
e} AQ%+ BP? = AR? 4+ PQ? bl 2 only
fc) Both 1 and 2
d) AQ%+ AP? = BK®+ KQ? {d} Neither 1 nor 2
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w0 Ty yatagn

T for a2
fa) 36
fh) 24 ¥ y B
el 16 i
|’ w9 #ifEa 7@ % AD=CD = BC #| £CDB
@ o = R w BT
fa) 32*°
B 64"
B6. A e
(d) wwaim wtwEl & s Fiim o fen
= T
F
88. ABC T wHarg frgw t o gl x, v z
r FAN: BC, CA A1 AB Tt % wHn % 76
& 3 p BX = CY = Az ¥ f=fafEa @ @ #=-m/8
wE R
ABC U fina &, Bl ¢ wmim 1, 3 5 1 xvz
e i Fom i ) S & TR
FH- T HE B 2. fya xvz, BvE ABC & wuen )
fa) AQ?+AB? = BP?+ pO? R Fo g e I
fa) =4 1
fb) AQ*+ PO* = AB®+ BP?
b} FEw 2
2 ! [ a &
fet AQ%+ BP® = AB*+ PQ A o o
(e} AGE+AFE=EH=TKG: I,H) :I-Tl_ﬁ-]a;rﬂ::rﬂz

B-ABPA-P-JRW /S4A a1 [P.T. 0.



B89. . = » P 91. The election result in which six parties
0 3 contested was depicted by a pie chart,
Party A had an angle 135° on this pie
chart, If it secured 21960 votes, how
100" many valid votes in total were cast?
) = fa) 51240
. fb} 583560
In the figure given above, p and g are
parallel lines. What are the values of the fe) 78320
angles x, y and =? fd] BT840

92. The mean and median of 5 sbservations
are 9 and B respectively. If 1 s
subtracted from each observation, then

fa}] x=8B0F, y=40F, z=10F

fb) x=80", y=50F, =z=105 the new mean and the new median
will respectively be

fe} x=TOF, y=40°fF, =z=110° fa) B and 7
B 9 and 7

fd) x=6F =200 ==12F fel & and 9

fd}] Cannot be determined due to
insufficient data

93. The age distribution of 40 children 1= as
follows @

Age fin years) | 56 | 6-7 | 7-8 | 89 [9-10{10-11
MNo. of children | 4 T q 12 ] 2

2x +by=21
Consider the following statements in
respect of the above frequency

o] 1 2 3 4 ? distribution :
1. The median of the age distribution
The linear inequations, for which the is 7 years.
shaded area in the fipure given above is 2. TD% of the children are in the age
the solution sef, are group 6-9 years,
3. The modal age of the children is
fa) 2x+6y=21, Sx-2u=10 8 years.
Which of the above statements are
fb) 2x+6y<21, Sx-2y=10 correct?
fa 1 and 2 only
fe) 2x+6y=z21, OSx-2y=10 b 2 and 3 only
’ fej 1 and 3 only
fdl 2x+6y=21, Sx-2y=z10 fd) 1, 2 and 3
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B9, «

91, U g7 w1, Tomn o7 29 3 wm frm, gftom
gt (91§ 1) Tm T ) W gt §
T AT RM 135° =) 9K W 21960 W
i, @ 9 B A m we o a7

el
S

fa) 51240
w0 sifrn Tam @ p ol g o TaEnd &) wm b S8B560
x,yﬁﬂz%ﬂﬂmi? fe) TB320
(d) BT840
fal x=80" p=40°, =100
B _ 92. 5 ua % g ain oiferw w0 o 8 B
(1) By S IR M T 2w 3O A | v w, @ w A
fe) x=70, y=40°, z=110° 3t 3% wifeere €1, w5
fa) B R 7
fd) x=60°, y=20°, z=120° T
fe) 8#MG
fd) soain wtwet & wwm Fife =9 fEn o
LET
90, F
93. 40 F= F Wy w A Frafefa b
sy (il ) 56 |67 [ 78 | B-9 |9-10]10-11
2x+6y=21 asal 3w 4 7 g | 12| & 2
Ifw ararE 929 % Wi A fyafafima s
i fomm Hifem -
; 24 i i
3 Yorm: s, o o v g i o i i
i T S aifien firs 3§ 2ot o R, 3. 70%¥RG-Hw T AM AR
3. == % e A 8 Wi ¥
fa)] 2x+6y=21, S5x-2y<10 wﬂmmﬁﬁﬂaﬂa-ﬁmﬂ
fb) 2x+6y<21, Sx-2y=10 fa) e 19 2
fb) =0 2 #n 3
fo} 2x+6y=221, Sx-2y<10
fc) a1 4R 3
(d) 2x+6y=21, Sx-2y=10 fd 1,233
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94. Suppose x; = A for 0<i< 10, where & > 1 98. The value of the expression

Which one of the following is correct? (243 + 647)% +(243 - 1647)2
fﬂ_.l AM = Mﬂd"ﬂ-ﬂ 243 =243 4+ 647 x E"‘:l'?
. is equal to
bl GM < Median
GM = Medi w2 i
(«) AR € 2 id) 3
d) AM = Med
@ o 99, If @ and b are negative real numbers and
_id] - ¢ is & positive real number, then which
98 Puppoks: Fpm s B0 ek R Bt of the following is/are correct?
Which one of the following is not 1. a-b<ca-¢
i 2. Waeh, then 22,
f) AM =176 5 c ¢
() GM>1/6 * e
fef HM=>1/6 Select the correct answer using the code
fd) Median = HM P i,
fa) 1
96. The value of 1 2 enly
Llogyq 3125 - 41ogyo 2 + log,q 32 fe} 3 only
3 {d) 2 and 2
= 100.
faj O
1 A fa}
fe) 2
g 3
4 1 AD is the diameter of a circle with area
YA m B oo 3 WhesE L 0s 7' L 707 m? and AB = BC = CD as shown in
sin® +cos® is equal to the figure above. All curves inside
the circle are semicircles with their
fe) 1 diameters on AD. What |is the cost of
JI-1 levelling the shaded region at the rate of
fb} : ¥ 63 per square metre?
fa) * 20,700
g 1 b 22,400
: fc] & 14,847
d 2 fd) None of the above
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94. oA o0 0<i<10 % B x, =28 R, el
A > 1 ¥ FrefeiEa 3 # B9 s wd by

fal AM < TITERR
fb) OM < mifegs
e} GM = mifeE
fdl  AM = mridE

95. M #fM i=1, 2, 3,.., ll*ﬁ%‘!.tl:?l
¥ F=fafian 4 & 29 -m o5 of = 27
fal AM >1/6
b} GM=1/6
fet HM>1/6
fd) IR = HM

9. ;]ﬂgmﬂlEE—#Iung+]ngm32 # TH
R
fa) ©
1
) 2
fdl 3

97. 4 tanB+r:utEl=a4__ ®, et EI-::EI-::E, i
43 &
sin® + cos @ s =R 27
fa) 1
(B}

ic)

(d} 2

B-ABPA-P-JRW /54A
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Q8. =5NPE

(243 + 647)? +(243 - 647)2
243 %243 + 647 x 647
w1 01 ok = B

fa} O &) 1
fe) 2 fd) 3

99, A2 g 3N b W Tatas gEnd § e o

100.

TH WA anaiew den ¥ A fefafen §
# w-w S T

. a-b<a=¢
2, ﬂﬁu{hﬂlgﬁbh
c o

e Ec]

b ¢

i fan, T 2w wEn waE I g
fal 1

(b W 2

fe] = 3

(d) 233

=@ T =w sifa fam 4 zwfm o &, AD T
a9 W =m B, T W w707 @ de B
3t AB=BC=CD B 9 % 3m wft 9%
weiga £, fois =m AD W ) P 63 wiE @l
Hie #1 2 A FIUA 4% ¥ guR =9 f w7
W R

f@) ® 29,700

b € 22400

(e} ¥ 14,847

fd) T A A

|B.T. O.
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e A g Oy witemr gieme @iee w T wmE A W aw 7w

#1413, : B-ABPA-P-JRW T giETE ST
&9 A
0093405 T eT0T GiETehT A
e i
HWY : Tl Wl quits : 100
AW |

1. when s ¥ i T wE, W gE T gt & wee aawm W o w5 Beaoew, v o g
B UE WWEn Wi s 3 9 af i d, @ g wh wle giee # e W
2. o e T fn OMR Fw-www &, 3fiw s w, 9@ TR ofR witem gfEen sgew A, B, © W D W,
wE @ T T B 9w m fenf & 99 ol geee s Bededt seftzan & 3 fiesht o mEn 6
o et & ey @ - Frm = R e
3. W e s W omy H fmom wEw d amER ShE SRR
T %1 wiam gl @ v 9w 7 o)
4, 73 vimm ofeE # 100 wiw () fioom #) wee weim T ol il &9 & o R wee wein § =W v
(zar) fm o #) = @ uw v w1 g @, P sy ow-us wosiTER e wed B R st i e fR oww A
st wegm v B, A 70 v W R S e wEien ) v v F o e v f v o b
5. 3 W wdi g s @ R o ww-gws w @ iR w0 R TEe-ws o e
6. At TEE & S T ¥
7. won ued fE s witem g & fafim oo % s Teew W sifen B e w, R s TWm-TE E w
ifm e % wpm 58 e e d R
8. 3 3 anfl wegedl w1 I-UE 6 WA F TR A Wi F e W e aw-uaE anders 61wl 3 e we
wra whem giEe § o= e R
9. wul wm ¥ fom wE oham ofew & W= A w2
10, M T & T am
wepfre woA-wdt # TEEn gm fim e e T e fmowmm
(i) W w o e Aefeum g §) elear g 9rE wm S Tow g m wE e g w e we g Tem e
m 3 W= ww-ferd e % wm 8§ = =)

(i) ot ¥ fEan uw B wius T I R, 9 @ ew T o wom, Tof Ry m wd § 4 vE T oA A
i ot am v % fow oefmeEn @ St wE W e R A

(i) =% Feefeem g #d W v A e = 8, iR weiEER oo T T o ¥, @ 3w v Tk ae
=#i fem wwom)

WA T T 9% witer giemn e w7 R W A a7 Wi

Note : English version of the instructions is printed on the front cover of this Booklet.



